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Modul:Set/Doku

Dies ist die Dokumentationsseite fiir Modul:Set
Vorlage:Lua

This module includes a number of set operations for Lua tables. It currently has union, intersection and
complement functions for both key/value pairs and for values only. It is a meta-module, meant to be
called from other Lua modules, and should not be called directly from #invoke.
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Loading the module

To use any of the functions, first you must load the module.

local set = require('Module:Set"')

union

set.union(tl, t2, ...)

Returns the union of the key/value pairs of n tables. If any of the tables contain different values for the
same table key, the table value is converted to an array holding all of the different values. For example,
for the tables {foo = "foo", bar = "bar"} and {foo = "foo", bar = "baz", qux = "qux"}, union
will return {foo = "foo", bar = {"bar", "baz"}, qux = "qux"}. An error is raised if the function
receives less than two tables as arguments.


https://cuv.copiki.de/w/Modul:Set
https://cuv.copiki.de/index.php?title=Vorlage:Lua&action=edit&redlink=1
https://cuv.copiki.de/index.php?title=Union_(set_theory)&action=view
https://cuv.copiki.de/index.php?title=Intersection_(set_theory)&action=view
https://cuv.copiki.de/index.php?title=Complement_(set_theory)&action=view

valueUnion

set.valueUnion(tl, t2, ...)

Returns the union of the values of n tables, as an array. For example, for the tables {1, 3, 4, 5, foo =’
and {2, bar = 3, 5, 6}, valueUnion will return {1, 2, 3, 4, 5, 6, 7}. An erroris raised if the
function receives less than two tables as arguments.

intersection

set.intersection(tl, t2, ...)

Returns the intersection of the key/value pairs of n tables. Both the key and the value must match to be

included in the resulting table. For example, for the tables {foo = "foo", bar = "bar"} and {foo = "fo«
, intersection will return {foo = "foo"}. An error is raised if the function receives less than two tables as
arguments.

valuelntersection

set.valuelntersection(tl, t2, ...)

Returns the intersection of the values of n tables, as an array. For example, for the tables {1, 3, 4, 5, f«
and {2, bar = 3, 5, 6}, valuelntersection will return {3, 5}. An error is raised if the function receives
less than two tables as arguments.

complement

set.complement (tl, t2, ..., tn)
Returns the relative complement of ¢Z, t2, ..., in 7. The complement is of key/value pairs. This is
equivalent to all the key/value pairs that are in Z7 but are not in any of t1, 2, ... tn-1. For example, for
the tables {foo = "foo", bar = "bar", baz = "baz"} and {foo = "foo", bar = "baz", qux = "qux'
, complement would return {bar = "baz", qux = "qux"}. An error is raised if the function receives less

than two tables as arguments.

valueComplement

set.valueComplement(tl, t2, ..., tn)



https://cuv.copiki.de/index.php?title=Relative_complement&action=view
https://cuv.copiki.de/index.php?title=Relative_complement&action=view

This returns an array containing the relative complement of ¢1, £2, ..., in tn. The complement is of values
only. This is equivalent to all the values that are in tn but are not in t1, t2, ... tn-1. For example, for the

tables {1, 2}, {1, 2, 3} and {1, 2, 3, 4, 5}, valueComplement would return {4, 5}. An error s
raised if the function receives less than two tables as arguments.


https://cuv.copiki.de/index.php?title=Relative_complement&action=view
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